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The ﬁgures in the margin indicate full marks
for the questions.

Answer elther in English or in Assamese.
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1. Choose the correct answer : - 1x10=10

um TeICh! AR Bened 3

(a) In which year 14 commercial banks were
nationalised in India ?

TREE @9 5I© >8ﬁaﬁ%ﬁzﬂ¢@\$a@mﬁq
0 ofew 2

() 1955 / ssee
(i) 1964 / ssus
(i) 1968 / sser
(iv) 1969 / ssus
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(b) In which year was the IDFC Bank esta‘
lished ? : :

@ vrs IDFC @\asarﬁsénwtﬁa 2
(i) 2012 / 2033

(i) 2013 / 2059

(i) 2014 / 3038

(iv) 2015 / 305¢

(c) Schedule 8 in the bank balance sheet relates

to

(P TFE AN v AW Wﬂﬁﬁ” “@mﬁ 41
ﬁﬂﬂzﬁ EG

(i)  Deposits

RIEISIS)

(i) Advances
SO R

(iii) Fixed assets

A TifE
(iv) Investments
RiSce
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(d) The largest single item on the habllmes side

(e)

‘of the bank balance sheet is

(@3 BFE FIGF (V1N 715FS HDIRSCT TIeY 9T

@

(i)

(iif)

(iv)

Capital
[T
Borrowings
R

Deposits
IS

None of the 'above. :

QIR b8 A= |

A banker's lien is

(@)

I g TA

(i) General lien
AR 7R

(i1) Particular lien
Row =

(i) Negative lien
Y T]
All of the above.
SR AR |
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(f) Garnishee order is issued by
MAR SR w R I
* (i) The banker
CRCB
(ii)) Customer of the bank
RN AR
(ili) The Court
IR A}
(iv) None of the above.
|%iFF BI8 FF |

(g) The most important principle of sound

lending is

mmmwﬁmwwm ’

(i) Safety
s
~ (i)  Security
i
(iii) Liquidity
SIS
(iv) . Profitability

RIS
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(h) A cheque Wthh is not crossed is called open

cheque
G (IR T BT I (5T @I 2|
(1) True i
oMol
(ii)) False
=

(i) Two parallel transverse lines are not essential
for a special crossing.

Rom @R cvae  qois WQﬂﬁT—‘P{QHﬁW_
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(i)  True
o1
(i) False
o=y

(j) "Cash credit is a secured' advance." The
statement is

“Fo Aol TRlem et 1 SReCH

(i) True
S5t
(ii) False
=
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2. Answer the following questions :
Fesre PETRY Tey Bl g
(@) Whatis scheduled bank ?

Wﬁﬁg@@@m@m?

(b) Write two differences between bankmgv

and commercial debt.

R ot =i iy (I Siers w51 o

R

(c) Who can cross a cheque ?

PIET BF @A IR oA 2

(d) Write the full form of

(1) N.SF and
(i) WFD
(i) N.SF s

(i) WEDI s ws) foray

(e) What is Non-performing Asset ?
SRS e B @i 2
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it any four of the followmg questions (in
200 words each) :

rivate sector bank.

7 TS|

[ liquidity.
Jis wﬁm@aﬁmaﬁ%WI

¥ efly state the general relatlonshlp between
- banker and customer.
,mwwmmwmmqmﬁam
- Bt e e

18

" Distinguish between cheque and promissory
-~ note.

5»csasmzﬂlmf%\a 7199 et gren (et |

5) Under What circumstances the payment of a
cheque must be refused by a bank ?

wf29g =g
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tinguish between public sector bank and
101 <o (<< S RIS Y (e o

riefly explain the meanmg and s1gmficance

. & ARBRS @ o HARee et




Or / 39t

1 uss the _different types of loans. granted by

TR T ﬁ’*’iélﬁ SNSRI iker to a customer. et 1

e @wwmmﬁ%aawwmﬁam :
aalild ‘

4. (a) State the secondary functions of i
commercial banks. : '

Syl AT @ ce‘ﬁ‘T IR

ouss the statutory obligations of hanker to
four customer's cheques and maintain secrec;y
“accounts of customer. S+l
B 5 AR <51 i Sliem o1 catteizret

T CFqe (79 RfYere vy SitceTsa
I : |

(b) Distinguish between branch bankmg i
banking.

MA@ o= NG SRESS W

(e |

Or / WQHT Or / s=1
State the origin and development of
banking in India.

SECCAC HIES ca\ﬁs@' e oI Rapiel j
el 1

cuss the procedures of opening bank account
il the name of : _ 5+5=10

a minor and

State the various assets and liabilities cont 'v

in a bank balance sheet. ’ (ii) a company |
@@ﬁﬁ‘g_ﬂ‘mﬁﬁwﬁw Al (i) <t PriTF 1S
ol : 1 )
(0 f2B1el (AFIR AGSRR S 39 |
2/4 (Sem-6) MBP (8) :




1 What is a collecting banker ? State the Statum‘ I
protections granted to the collecting banker under
the Negotiable Instrument Act, 1881.  2+8=10

AT @R TE @ 2 Sobd 5 TEIGIE
| O S WS AR R el 34 e
TN IR [N 31 |

- Or / 5gat

Discuss the_ formalities which a banker has w0
observe before opening a new account. 10

51 ST R2plet CAIETR e @wqﬁaaﬁaﬁm ‘
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